Section 6-1 Operations on Functions

1. Given f(x)=x"+5x~2 and g(x)=3x—2, find each function. Indicate any restrictions in
the domain or range.
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A comp@sntmn (composite) function is f(g(x)) or [feg](x), read fof g of x.

2. Given  f(0)={(3-2), (~1.-5), (4.7), (10.8)} and g(x)={(4.3). (2.-1), (3.4, (3.10)},
find l:f g](x) and [go ](x). State the domain and range for each composed function.
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3. Gven J(x)=x +2and g(x)=x-6, find [fo gl(x) and [go f](x). State the domaifi an 3
range for each composed function.
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4, The Music Box offers both an in-store $35 rebate ant a 150 diScount on a digital audio
player that normally sells for $300. Which provides the better price: taking the discount
“brefore the rebate or taking the rebate before the discount?
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